Carol11/8" (9 7/16"x71/16")

200714

Log Structures
Oo-It-Yourself Building Kits




Impregnated foundation beams

Carol11/8" (9 7/16"x71/16") e

Foundation

IFB IFB 4 941/8"

40X70 [

2

=

©
ST
:O\
O
~
™M
o)
3
:O\
X
| ™M
©
R
:O\
O
~
™M
©
I
(@)

200714




Carol11/8" (9 7/16"x71/16")

Floor Plan @ Baseboard
BB

FB

¢

Floor Schedule

I\/\ark\ Type \ Profile \Count\Length

FB FB17x114 22 68
9/16"

‘ n n
213/16 , 56 11/16 sz 13/16

n 4 n 4
f 92 5/16 11

200714




Carol11/8" (9 7/16"x71/16")

Wall 1

v2213/16 ) 56 11/16 v2213/16 ,

Mark

Cut
Length

1BL-1

28X57

2213/16"

1LG-1*

28x114

26 7/16"

1LG-2*

28x114

52 13/16"

1LG-3"

28x114

791/8"

1LG-4

28x114

2213/16"

1LG-5*

28x114

102

7 7 7 <

200714

* Gable - delivered premounted

Log Profile Wall 1

Profile

\ Profile

28X57

i




Carol11/8" (9 7/16"x71/16")

Wall 2

200714

FrrrorrrrroerTn )

Mark

Cut
Length

2BL-1

28%57 102 3/8"

21G-1¥

28x114 26 7/16"

21 G-2"

28%114 52 13/16"

2LG-3*

28X114 791/8"

2LG-4"

28Xx114 102"

2LG-§

28%114 102 3/8"

* Gable - delivered premounted

Log Profile Wall 2

Profile \ Profile

28X57

i




Carol11/8" (9 7/16"x71/16")

Wall A

peceeceeerenerdy

Log Profile Wall A

Profile \ Profile

28x114

200714




Carol11/8" (9 7/16"x71/16")

Wall B

cecececcrerered

iy

Log Profile Wall B

Profile \ Profile

28x114

200714




1

i

\ Profile \ Count \ Length

Type
40X120

RFR |Ridge

AAark\

f /

=
s

7

O
-
~
X
O
-
~
S)
00
S~
[e
| -
S
O




Carol11/8" (9 7/16"x71/16") Fasca schedule

AAark\ Type \ Profile \Ccnjnt\Length

Roof 2

EE Eave Edging 4

@ @ @ | 18X40
|

wl EE Roof Fascia

18%120
Roofing
sheet
RB
RR1
RR2
RF1

Roof
reinforcement
18X95

(:) Roof Reinforcement

Roof
reinforcement
38x38

200714




Carol11/8" (9 7/16"x71/16")

Extras

Door Schedule

Mark \ Type \ Width \ Height \Count

BDD7R |Basic double |56 1/8" |68 1/8"
door 7 right

DCB4 |Door
Crossbar 4

Fasteners & Extras

Name \ Type \Count

Hitblock |300-400 mm
Screws |3/16"x23/4"
Bolt Ms5/16" x 2 3/8"

Screws |1/4"x51/2" . Type ‘ Count ‘ Length ‘
Nails 1/16" x19/16" ‘ Family \ Count \

Screws  3/16" x19/16" Windboard 86 5/8"
Screws 3/16" x 2" Romb 2 Q 18X40

200714




Carol11/8" (9 7/16"x71/16")

List of all items 1

Impregnated foundation beams Floor Schedule

AAark\ Type \ Profile Miount\Length AAark\ Type \ Profile \Courﬂ \Length

IFB IFB 4 941/8" FB FB 17x114 22 68
40X70 9/16"

Roof Fascia Schedule

AAark\ Type \ Profile \Count\Length AAark\ Type \ Profile \Count\Length

RFR |Ridge 90 EE  Eave Edging 4 58
40X120 [\‘ 9/16" 18X40 11/16"

17x114 Roof Fascia

18X120

Roof
reinforcement
18X95

Roof
reinforcement
38x38




Carol11/8" (9 7/16"x71/16")

List of all items 2

Wall 1

Cut
Mark | Profile Length

1BL-1  |28x57 2213/16"

1LG-1%|28x114 267/16"

1LG-2% | 28x114 5213/16"

1LG-3% | 28x114 791/8"

1LG-4 |28x114 2213/16"

1LG-5%| 28x114 102"

* Gable - delivered premounted

Wall A Wall B

Profile | Count Profile | Count

28x114 |15 28x114 |15

28x114 28x114

Log Profiles

Log Profiles

Profile

Profile




	Sheets
	1 - Titlesheet

	Sheets
	2 - Foundation

	Sheets
	3 - Floor Plan

	Sheets
	1 1 - Wall 1

	Sheets
	2 1 - Wall 2

	Sheets
	A 1 - Wall A

	Sheets
	B 1 - Wall B

	Sheets
	8 - Roof 1

	Sheets
	9 - Roof 2

	Sheets
	10 - Extras

	Sheets
	11 - List of all items 1

	Sheets
	12 - List of all items 2


